Soluciones de los ejercicios para practicar

1 5/16 16. ;2%;;?5;8?:0’40 €; yogur ~
2 BTl Sliles [FelORis Sfiteeg 17. Mayor:48 €; mediano:36 €;
: pequefo:12 €
3. 2 18. Andrés:182 Ha; Pablo:364 Ha;
4. 442 € Paloma:1092 Ha.
5. Altura=10,5 cm; base=3 cm 19. 12 Km
6. 17/10 20. 11,12y 13
7. Andrés recibe 126 €; Pablo, 378 €; 21. 9
Paloma, 1134 € 22. -11/3
8. 1/3 23. 1/4
9. Maria:24 gﬁos; Federico:72 afios; 24. 33/16
Pablo:8 afos
10. 3 25. 6
11. Un amigo tiene 21 anos y el otro 23 A 3
afos 27. -16/3
12. 3 28. -1/3
13. 18 afos 29. 3/4
14. -13/141 30. 47/27
15. 30 31. 6/7
Soluciones AUTOEVALUACION
1.6 6. -2
2. 8cm 7.9
3. 336 Km 8. 9€
4. 28 afios 9. 27
5.3 10. 84 Ha
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